2D Elasticity

PWC Stvoss # Domain bounded by two parallel planes

# Distance between these two planes is very small compared to other dimensions

# The two planes are at Z =+ 2
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# There i littl jation i
/ ere is very little variation in GZZ 1 (Y'Z% X Gﬂd'z
through the thickness; in fact

these will be approximated to be zero

# The two planes are stress-free:’ - = ¢ =
- p d T %2z

# Because of the very small thickness, the non-zero components will have very
little variation in the z-direction

Tan® Gﬁt‘()‘K\ U( /\(\ q = Tﬁ" a)

# In order to have these stresses to be independent of z,we must not have any body
forces or tractions in the z-direction

# Non-zero body forces or tractions must be independent of z
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Polynomial solutions to the biharmonic equation
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